

Summary of Bids Received

Project: LED Street Lighting Installation

Section: 16-00999-27-TL

Description: Install LED Replacement Lights; Remove and Replace Light Poles

Bidder Home Towne Electric, Inc.	Address P.O. Box 863	City, State, Zip Lake Villa, IL 60046	Bond Bid Bond	Bid Price \$335,919.10	% Over/Under Eng. Estimate 12.79%	\$ Over/Under Eng. Estimate \$38,104.60
Utility Dynamics Corporation	23 Commerce Drive	Oswego, IL 60543	Bid Bond	\$338,723.30	13.74%	\$40,908.80
Engineer's Estimate				\$297,814.50		
Design	IDOT(2)	Contract Bidder	s	ES then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assi	stant	
Construction	Project File	Request By Mail	N	ngr Capital Progran	mming	



Return Bid Tabulation

Project: LED Street Lighting Installation

Section: 16-00999-27-TL

Description: Install LED Replacement Lights; Remove and Replace Light Poles

Item No.	Pay Code	Code Description		Quantity	Unit	Eng Est	imate	Home Towne	Flectric Inc	Utility Dynamics Corporation	
	,	2001			J	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	67100100	MOBILIZATION		1.0	L SUM	\$2,000.00	\$2,000.00	\$25,000.00	\$25,000.00	\$18,500.00	\$18,500.00
2	81028720	UNDERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT, 1" DIA.		970.0	FOOT	\$10.00	\$9,700.00	\$10.50	\$10,185.00	\$13.54	\$13,133.80
3	81702110	ELECTRIC CABLE IN CONDUIT, 600V TYPE USE) 1/C NO. 10	(XLP-	730.0	FOOT	\$1.30	\$949.00	\$1.00	\$730.00	\$1.40	\$1,022.00
4	81702120	ELECTRIC CABLE IN CONDUIT, 600V TYPE USE) 1/C NO. 8	(XLP-	2,030.0	FOOT	\$1.60	\$3,248.00	\$1.20	\$2,436.00	\$1.49	\$3,024.70
5	81702130	ELECTRIC CABLE IN CONDUIT, 600V TYPE USE) 1/C NO. 6	(XLP-	10,555.0	FOOT	\$2.00	\$21,110.00	\$1.50	\$15,832.50	\$1.50	\$15,832.50
6	84200804	REMOVAL OF POLE FOUNDATION		16.0	EACH	\$300.00	\$4,800.00	\$220.00	\$3,520.00	\$594.00	\$9,504.00
7	84400105	RELOCATE EXISTING LIGHTING UNIT		16.0	EACH	\$1,500.00	\$24,000.00	\$925.00	\$14,800.00	\$1,083.00	\$17,328.00
8	89502300	REMOVE ELECTRIC CABLE FROM CONDU	JIT	13,315.0	FOOT	\$0.50	\$6,657.50	\$0.20	\$2,663.00	\$0.22	\$2,929.30
9	LC800251	Roadway Luminaire, LED, Type 1		17.0	EACH	\$1,650.00	\$28,050.00	\$2,374.00	\$40,358.00	\$2,672.00	\$45,424.00
10	LC800252	Roadway Luminaire, LED, Type 2		30.0	EACH	\$1,450.00	\$43,500.00	\$1,985.00	\$59,550.00	\$2,338.00	\$70,140.00
11	LC800253	Roadway Luminaire, LED, Type 3		38.0	EACH	\$1,200.00	\$45,600.00	\$781.00	\$29,678.00	\$1,172.00	\$44,536.00



Return Bid Tabulation

Project: LED Street Lighting Installation

Section: 16-00999-27-TL

Description: Install LED Replacement Lights; Remove and Replace Light Poles

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	Eng Estimate		Eng Estimate Home Towne Electric, Inc.		Utility Dynamic	Utility Dynamics Corporation	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price		
12	LC800256	Underpass Luminaire, LED, Type 1	10.0	EACH	\$2,050.00	\$20,500.00	\$827.00	\$8,270.00	\$1,079.00	\$10,790.00		
13	LC800257	Underpass Luminaire, LED, Type 2	8.0	EACH	\$2,250.00	\$18,000.00	\$1,877.00	\$15,016.00	\$2,067.00	\$16,536.00		
14	LC800351	Mast Arm, Special, 18'	11.0	EACH	\$1,100.00	\$12,100.00	\$1,533.00	\$16,863.00	\$1,684.00	\$18,524.00		
15	X0323927	MAINTENANCE OF LIGHTING SYSTEM	6.0	EACH	\$1,500.00	\$9,000.00	\$880.00	\$5,280.00	\$525.00	\$3,150.00		
16	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$15,000.00	\$15,000.00	\$60,000.00	\$60,000.00	\$17,325.00	\$17,325.00		
17	X8360110	LIGHT POLE FOUNDATION, SPECIAL	112.0	FOOT	\$300.00	\$33,600.00	\$229.80	\$25,737.60	\$277.00	\$31,024.00		
		Bid Total				\$297,814.50		\$335,919.10		\$338,723.30		



Return Bid Details

Project: LED Street Lighting Installation

Section: 16-00999-27-TL

Description: Install LED Replacement Lights; Remove and Replace Light Poles

						Eng Estimate				
Item No.	Pay Code	Description		Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	67100100	MOBILIZATION		1.0	L SUM	\$2,000.00	\$2,000.00	\$18,500.00	\$25,000.00	\$21,750.00
2	81028720	UNDERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT, 1" DIA.		970.0	FOOT	\$10.00	\$9,700.00	\$10.50	\$13.54	\$12.02
3	81702110	ELECTRIC CABLE IN CONDUIT, 600V TYPE USE) 1/C NO. 10	(XLP-	730.0	FOOT	\$1.30	\$949.00	\$1.00	\$1.40	\$1.20
4	81702120	ELECTRIC CABLE IN CONDUIT, 600V TYPE USE) 1/C NO. 8	(XLP-	2,030.0	FOOT	\$1.60	\$3,248.00	\$1.20	\$1.49	\$1.35
5	81702130	ELECTRIC CABLE IN CONDUIT, 600V TYPE USE) 1/C NO. 6	(XLP-	10,555.0	FOOT	\$2.00	\$21,110.00	\$1.50	\$1.50	\$1.50
6	84200804	REMOVAL OF POLE FOUNDATION		16.0	EACH	\$300.00	\$4,800.00	\$220.00	\$594.00	\$407.00
7	84400105	RELOCATE EXISTING LIGHTING UNIT		16.0	EACH	\$1,500.00	\$24,000.00	\$925.00	\$1,083.00	\$1,004.00



Return Bid Details

Project: LED Street Lighting Installation

Section: 16-00999-27-TL

Description: Install LED Replacement Lights; Remove and Replace Light Poles

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
8	89502300	REMOVE ELECTRIC CABLE FROM CONDUIT	13,315.0	FOOT	\$0.50	\$6,657.50	\$0.20	\$0.22	\$0.21
9	LC800251	Roadway Luminaire, LED, Type 1	17.0	EACH	\$1,650.00	\$28,050.00	\$2,374.00	\$2,672.00	\$2,523.00
10	LC800252	Roadway Luminaire, LED, Type 2	30.0	EACH	\$1,450.00	\$43,500.00	\$1,985.00	\$2,338.00	\$2,161.50
11	LC800253	Roadway Luminaire, LED, Type 3	38.0	EACH	\$1,200.00	\$45,600.00	\$781.00	\$1,172.00	\$976.50
12	LC800256	Underpass Luminaire, LED, Type 1	10.0	EACH	\$2,050.00	\$20,500.00	\$827.00	\$1,079.00	\$953.00
13	LC800257	Underpass Luminaire, LED, Type 2	8.0	EACH	\$2,250.00	\$18,000.00	\$1,877.00	\$2,067.00	\$1,972.00
14	LC800351	Mast Arm, Special, 18'	11.0	EACH	\$1,100.00	\$12,100.00	\$1,533.00	\$1,684.00	\$1,608.50
15	X0323927	MAINTENANCE OF LIGHTING SYSTEM	6.0	EACH	\$1,500.00	\$9,000.00	\$525.00	\$880.00	\$702.50



Return Bid Details

Project: LED Street Lighting Installation

Section: 16-00999-27-TL

Description: Install LED Replacement Lights; Remove and Replace Light Poles

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
16	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$15,000.00	\$15,000.00	\$17,325.00	\$60,000.00	\$38,662.50
17	X8360110	LIGHT POLE FOUNDATION, SPECIAL	112.0	FOOT	\$300.00	\$33,600.00	\$229.80	\$277.00	\$253.40
		Bid Tota			\$297,814.50				